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dtiEE |AioIEL 13,062 - - - - #Fim |aveh) F=p 16,462 - - - -
H oHBATY 13,090 13,396 98% 14,009 93% il |AvENY 1&iE 16,481 16,527 100% - -
H FoLLCD 13,293 13,291 100% 13,824 96% = aveny 14,576 14,953 97% 15,784 92%
BF |U0EHIFEN 13,928 14,468 96% 15,081 92% BNl |avesy 14,251 14,532 98% 15,206 94%
BF |HEFL 13,482 13,987 96% - - K8 |aEhY 14,527 - - - -
BH |UEDHIEFN 14,410 14,578 99% - - #E |2avehy 14,408 14,305 101% 15,365 94%
MHE |HEIFEL 14,510 14,528 100% 15,125 96% HE |FXEHY 13,628 - - - -
Wi |IFxshE 14,073 14,202 99% 14,579 97% BW |avEHY 14,095 14,151 100% - -
B8 |aveh) E=3=4 14,895 14,674 102% - - Bl |U&EHIEFN 13,548 - - - -
'BE |VEHIEN 13,308 13,444 99% - - BiR [2iEHY 13,966 13,871 101% - -
ZW |aveEH) 14,273 14,163 101% 14,803 96% A |aveAy 13,827 - - - -
WmA |[aveEHY 14,090 14,082 100% 14,806 95% EF)l |eseHY 13,707 - - - -
FE |avkhHy 14,017 14,223 99% - - B |eE/EHY 13,572 14,282 95% - -
EH |[3vEHY 14,057 14,232 99% - - 713 E/EHY 13,760 13,789 100% - -
REH |HEFL 13,297 13,391 99% - - BEA |avehy 14,348 - - - -
il |AvENY —fg 16,079 16,086 100% 17,039 94% X7 |e/eHY 13,514 14,257 95% - -
il |AvENY b 22,433 22,380 100% 25,016 90% AT EE 14,120 14,314 99% 15,085 94%
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